
PHYSICS

BOOKS - BEIITIANS

MEASUREMENT

Formative Worksheet

1. Amount of work done is 10 Joule, here 10

standard for

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tRPJB3pEnQVV


A. Unit

B. Numerical value

C. Both (1) and (2)

D. None of these

Answer:

Watch Video Solution

2. Which physical quantity unit is same in all

systems

https://dl.doubtnut.com/l/_tRPJB3pEnQVV
https://dl.doubtnut.com/l/_bwgPqYPPbEIt


A. length

B. mass

C. time

D. temperature

Answer: time

Watch Video Solution

3. 1  = _______

A. 

cm2

104m2

https://dl.doubtnut.com/l/_bwgPqYPPbEIt
https://dl.doubtnut.com/l/_g1F1qnHsYInq


B. 

C. 

D. 

Answer:

Watch Video Solution

101m2

102m2

102mm2

4. 10 kg  =_____8 

A. 1000

B. 1

m− 3 cm− 3

https://dl.doubtnut.com/l/_g1F1qnHsYInq
https://dl.doubtnut.com/l/_yxcJva6PtXZC


C. 

D. 100

Answer:

Watch Video Solution

10− 2

5. Which of the following are the examples for

physical quantity?

A. length

B. area

https://dl.doubtnut.com/l/_yxcJva6PtXZC
https://dl.doubtnut.com/l/_pXHaAcSz7dVR


C. force

D. energy

Answer:

Watch Video Solution

6. Convert 100 quintal into nano grams (ng).

A.  ng

B.  ng

C.  ng

105

1016

1017

https://dl.doubtnut.com/l/_pXHaAcSz7dVR
https://dl.doubtnut.com/l/_ZHtRtEvqsOvJ


D.  ng

Answer:

Watch Video Solution

1018

7. Convert 1 second into day.

A.  Day

B. 24 day

C.  day

D.  day

1

86400

1

24

1

3600

https://dl.doubtnut.com/l/_ZHtRtEvqsOvJ
https://dl.doubtnut.com/l/_CcCsSmuJVf5v


Answer: A

Watch Video Solution

8. I hectare=_____

A. 

B. 

C. 

D. 

Answer:

101cm2

104cm2

106cm2

108cm2

https://dl.doubtnut.com/l/_CcCsSmuJVf5v
https://dl.doubtnut.com/l/_R7gxqPjAHZgd


Watch Video Solution

9. 16 kg/ =____g/

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

m2 cm3

16x × 10− 3

26 × 10− 6

36 × 10− 3

46 × 10− 6

https://dl.doubtnut.com/l/_R7gxqPjAHZgd
https://dl.doubtnut.com/l/_fbl8ziNhJ4fQ


10. If 1 nano gram=  milligram, then x=

A. 6

B. -6

C. 9

D. -9

Answer:

Watch Video Solution

10x

https://dl.doubtnut.com/l/_fbl8ziNhJ4fQ
https://dl.doubtnut.com/l/_CKDarvYdpN7V


11. How many of the prefixes are correctly

matched with their multiples  

pico  tera

giga  


 nano  mega

micro  


 centi  deci

 milli

Watch Video Solution

:

(i) (p) − 10− 12     (ii)

(T ) − 1012     (iii) (G) − 109

(iv) (n) − 10− 9     (v)

(M) − 106     (vi) (μ) − 10− 6

(vii) (cm) − 10− 1     (vii)

(D) − 10     (ix) (m) − 10− 3

https://dl.doubtnut.com/l/_pyVgRTGpEOsQ


12. Choose the correct statement.

A. Number of fundamental quantities are

limited.

B. In M.K.S System, there are 7 fundamental

quantities

C. Number of fundamental quantities are

unlimited.

D. Units of fundamental quantities in M.K.S

is same as in SL.

https://dl.doubtnut.com/l/_OV4ceSHQ4wRl


Answer:

Watch Video Solution

13. Choose the correct options

A. nm is not same as mN.

B. Inm=  m and 1 mN=  N.

C. When we change the unit of

measurement of a quantity, its numerical

value changes.

10− 9 10− 3

https://dl.doubtnut.com/l/_OV4ceSHQ4wRl
https://dl.doubtnut.com/l/_u9mGKTh55tr6


D. Smaller the unit of measurement,

smaller is its numerical value

Answer: B, C

Watch Video Solution

14. Statement-I: Meter is the standard by

which we can measure length. 

Statement-II: Second is the standard by which

we can measure time.

https://dl.doubtnut.com/l/_u9mGKTh55tr6
https://dl.doubtnut.com/l/_HkffjDBdRv8P


A. Both Statements are true, Statement - II

is the correct explanation of Statement -

1.

B. Both Statements are true, Statement-II is

not correct explanation of Statement - L

C. Statement -I is true, Statement - II is

false.

D. Statement-I is false, Statement II is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HkffjDBdRv8P


15. Statement I: Fundamental units are the

units for measuring fundamental quantities. 

Statement II: Metre is the unit of length.

A. Both Statements are true, Statement-II is

the correct explanation of Statement - I

B. Both Statements are true, Statement - II

is notcorrect explanation of Statement -

I

C. Statement-I is true, Statement II is false.

https://dl.doubtnut.com/l/_HkffjDBdRv8P
https://dl.doubtnut.com/l/_3nrPkmkeBxtW


D. Statement -I is false, Statement II is true.

Answer:

Watch Video Solution

16. Match the following 

Watch Video Solution

Column-I Column-II

(A)unit of length in F.P.S (p)m

(B)unit of mass in C.G.S (q)foot

(C)unit of time (r)metre

(s)gm

(t)second

https://dl.doubtnut.com/l/_3nrPkmkeBxtW
https://dl.doubtnut.com/l/_F2RcMXVVNkyY


17. Match the following 

Watch Video Solution

Column-I Column-II

(A)Derived unit (p)Height

(B)Fundamental unit (q)Thickness

(C)Derived quantity (r)Area

(D)Fundamental quantity (s)Newton

(t)Kilogram

18. In decreasing magnitude which of the

following is correct ?

A. km, cm, m, mm

https://dl.doubtnut.com/l/_W2m7S3jXwU9G
https://dl.doubtnut.com/l/_Feg4XOaDei1G


B. km, m, cm, mm

C. m, km, cm, mm

D. km, cm, mm, m

Answer: B

Watch Video Solution

19. The number of rounds of a wire around a

pencil are 24 and the length of the coil is

4.8cm then what is the diameter of wire ?

https://dl.doubtnut.com/l/_Feg4XOaDei1G
https://dl.doubtnut.com/l/_Gll5qXlFEu8A


A. 24cm

B. 2.4 cm

C. 20cm

D. 0.2 cm

Answer:

Watch Video Solution

20. The distance between Radha's home and

her school is 3250 m. Express this distance

into km.

https://dl.doubtnut.com/l/_Gll5qXlFEu8A
https://dl.doubtnut.com/l/_N37MDZUHG7T0


A. 32.5 km

B. 3.25 km

C. 0.325 km

D. 0.0325 km

Answer:

Watch Video Solution

21. The height of a person is 1.65 m. Express

this value in mm.

https://dl.doubtnut.com/l/_N37MDZUHG7T0
https://dl.doubtnut.com/l/_BxzevohggfIG


A. 16.5 mm

B. 165 mm

C. 1650 mm

D. 16500 mm

Answer:

Watch Video Solution

22. While measuring the diameter of the ball,

the inner edges of the wooden block stood at

https://dl.doubtnut.com/l/_BxzevohggfIG
https://dl.doubtnut.com/l/_bWmoIwomiKia


3.4cm and 4.7cm on a scale. Calculate the

diameter of the ball?

A. 1.3 cm

B. 7.7 cm

C. 0.13 cm

D. 0.77 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bWmoIwomiKia


23. Fill in the blanks

A. 1 cm=__mm.

B. 1 dm=__metre.

C. 1 kilometre =__metre.

D. 1 metre=__centimetre.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_uQ29obKVwvno


24. Fill in the blanks with sign.

A. 1 decametre____1 decimetre.

B. 1 millimetre____1 centimetre.

C. I hectometre____1 kilometre.

D. 1 decimetre____1 centimetre.

Answer: >, <, <, >

Watch Video Solution

https://dl.doubtnut.com/l/_EgQtovXs7HYM


25. one quintal = ____ ton

A. 10

B. 100

C. 0.1

D. 0.01

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IigDisDo6qKA


26. 1 metric tonne=_____milligram.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

103

106

109

1012

https://dl.doubtnut.com/l/_qZRg0crbFqJJ


27. 1 micro second  milliseconds. Find x.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

= 10x

+1

+3

−1

−3

https://dl.doubtnut.com/l/_FZvqCH2H5hO2


28. 1 kg =_____tonne

A. 100

B. 1000

C. 10

D. 0.001

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bK83nHlREma2


29. A truck of weigh 4.4tonnes. Its value in kg?

A. 4400 kg

B. 440 kg

C. 44 kg

D. 4.4 kg

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ESpGxCcRLwC6


30. How many seconds are equal to 6hours

8min?

A. 86400 sec

B. 43200 sec

C. 22080 sec

D. 648240 sec

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zNNx2mjsyBt9
https://dl.doubtnut.com/l/_7rkNtrxmxD0x


31. Match the following 

Watch Video Solution

Column-I Column-II

(A)1 minute (p)100 years

(B)1 day (q)365 days

(C)1 year (r)24 hours

(D)1 century (s)60 s

32. Match the following 

Watch Video Solution

Column-I Column-II

(A)1 hour (p)1440 min

(B)1 day (q)60 min

(C)1 year (r)36500 days

(D)1 century (s)8760 hours 

https://dl.doubtnut.com/l/_7rkNtrxmxD0x
https://dl.doubtnut.com/l/_ysRxb5EBaOXj


33. x is the number of years in a decade. y is

the number of decades in a century and z is

the number of centuries in a millenium. Find

x:y:z

A. 

B. 

C. 

D. 

Answer:

1: 1: 1

1: 2: 1

1: 2: 3

2: 3: 4

https://dl.doubtnut.com/l/_ysRxb5EBaOXj
https://dl.doubtnut.com/l/_B27bX5QbCKxA


Watch Video Solution

34.  and 

 find x+y

A. 2

B. 4

C. 8

D. 16

Answer:

+ = x
1minute

60s

60minutes

1hours

+ = y
1decade

10years

10decades

1century

https://dl.doubtnut.com/l/_B27bX5QbCKxA
https://dl.doubtnut.com/l/_GfkFJzAG8XaN


Watch Video Solution

35. Imagine this hypothetical situation. The

wealth possessed by the richest person of this

world is Avogadro number  of

dollars. He thought of donating his entire

wealth to the needy. and make their living

healthy. His life span is assumed to be 90 years

and he is now 45. The rate of donation is 5000

dollars per second and from now, every second

of his existence is only used for donation. Can

(6.023 × 1023)

https://dl.doubtnut.com/l/_GfkFJzAG8XaN
https://dl.doubtnut.com/l/_Ssd1NVIzzjIV


he empty all his wealth in this life? Justify your

answer.

Watch Video Solution

36. An unusual running race was organised

between a rabbit and an ant. By the time

rabbit moves 1 m in one second, ant moves

Imm (millimetre) in the same time. How much

time will ant takes to cover the distance

covered by the rabbit in 1 second?

Watch Video Solution

https://dl.doubtnut.com/l/_Ssd1NVIzzjIV
https://dl.doubtnut.com/l/_ht2jNUTbt1cp


37. The average lifespan of a lion in the wild is

up to 16 years. If average number of days in a

year is 365 days. Express this age in hours.

A. 1600

B. 5840

C. 140160

D. 8409600

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ht2jNUTbt1cp
https://dl.doubtnut.com/l/_oc0HHnQVtsOn


38. In physics, the Planck time, , is the unit

of time in the system of natural units known

as Planck units. It is the time required for light

to travel, in a vacuum, distance of 1 Planck

length a .The unit is named

after Max Planck, who was the first to propose

it. The value of Planck time is approximately

equal to  s. And Century is one of

the larger units of time and is equal to 100

years. Find approximately how many Planck

(tp)

(1.6 × 10− 35m)

5.32 × 10− 44

https://dl.doubtnut.com/l/_oc0HHnQVtsOn
https://dl.doubtnut.com/l/_BFxIiZtzA1DI


time's make one century. (Take one year = 365

days)

A. 1 Century =

B. 1 Century =

C. 1 Century =

D. None of these

Answer:

Watch Video Solution

5.89x1052tp

5.89x1062tp

5.89x1072tp

https://dl.doubtnut.com/l/_BFxIiZtzA1DI


39. In the figure, if the time taken by the bob

to move from A to B is 0.5 second, the time

period of the pendulum is____ 

A. 0.5sec

B. 1 sec

https://dl.doubtnut.com/l/_aCZtjbkges7v


C. 1.5sec

D. 2sec

Answer:

Watch Video Solution

40. The time period of a simple pendulum is 1

second. The time taken by it to complete 

oscillation, is____

A. 0.5 sec

1

2

https://dl.doubtnut.com/l/_aCZtjbkges7v
https://dl.doubtnut.com/l/_9b8R2VHI02ea


B. 2sec

C. 4sec

D. 8sec

Answer:

Watch Video Solution

41. The time period of a simple pendulum is 5

seconds. If mass of the bob is increased to 4

times the original, the new time period of it is

____

https://dl.doubtnut.com/l/_9b8R2VHI02ea
https://dl.doubtnut.com/l/_vRu6x80UUBdk


A. 20sec

B. 15sec

C. 10sec

D. 5sec

Answer:

Watch Video Solution

42. 1  -___

A. 

cm2

1/10000m2

https://dl.doubtnut.com/l/_vRu6x80UUBdk
https://dl.doubtnut.com/l/_r48BQsHSHiOG


B. 

C. 

D. 

Answer:

Watch Video Solution

10− 5m2

1/100000m2

10− 4m2

43. 1  =____hectares.

A. 10000

B. 1000

km2

https://dl.doubtnut.com/l/_r48BQsHSHiOG
https://dl.doubtnut.com/l/_2lZDoYNjN22c


C. 100

D. 10

Answer:

Watch Video Solution

44. Statement 1: 1 =1,000,000 

Statement II: 1 hectare 100 Acres

A. Statement -I is true, Statement - II is

false.

km2 m2

https://dl.doubtnut.com/l/_2lZDoYNjN22c
https://dl.doubtnut.com/l/_wHrVOLPztHei


B. Statement -I is false, Statement - Il is

true.

C. Both Statements I & II are true.

D. Both Statements I & II are false.

Answer:

Watch Video Solution

45. The area of a square surface, whose each

side is equal to one metre is

https://dl.doubtnut.com/l/_wHrVOLPztHei
https://dl.doubtnut.com/l/_qn25aLuSxStQ


A. square millimetre

B. square centimetre

C. square cube metre

D. square metre

Answer:

Watch Video Solution

46. A school hall measures 20 m in length and

12 m in breadth. Find the area of the school

hall.

https://dl.doubtnut.com/l/_qn25aLuSxStQ
https://dl.doubtnut.com/l/_DKwG07qlKguZ


A. 1200 

B. 120 

C. 240 

D. 2400 

Answer:

Watch Video Solution

m2

m2

m2

m2

47. The length of the school play ground is

400 m and breadth is 100 m. The area of the

play ground is ____hectares.

https://dl.doubtnut.com/l/_DKwG07qlKguZ
https://dl.doubtnut.com/l/_W4xAS6rBa6rr


A. 3hectares

B. 2hectares

C. 4hectares

D. 5hectares

Answer:

Watch Video Solution

48. What is the area of rectangular graph

paper having 6cm length and 5cm width?

https://dl.doubtnut.com/l/_W4xAS6rBa6rr
https://dl.doubtnut.com/l/_Qzn3ChYAtfS8


A. 11 

B. 1 

C. 30 

D. 60 

Answer:

Watch Video Solution

cm2

cm2

cm2

cm2

49. _____________hectare 


1 hectare =________  


_____________

1m2 =

km2

1mm2 = km2

https://dl.doubtnut.com/l/_Qzn3ChYAtfS8
https://dl.doubtnut.com/l/_lmTm9ebeZ75L


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x = 10− 6, y = 10− 4, z = 10− 2

x = 10− 4, y = 10− 2, z = 10− 6

x = 10− 2, y = 10− 4, z = 10− 6

x = 10− 4, y = 10− 4, z = 10− 2

50. Statement I: The smaller unit for

measuring volume of liquids is millilitre. 

https://dl.doubtnut.com/l/_lmTm9ebeZ75L
https://dl.doubtnut.com/l/_CwzwIVv8Osqi


Statement II: In standard international system

volume is measured in cubic metre

A. volume of liquids is millilitre.
 Statement

II: In standard international system

volume is measured in cubic metre

B. Statement -I is false, Statement - II is

true.

C. Both Statements I & II are true.

D. Both Statements I & II are false.

Answer:

https://dl.doubtnut.com/l/_CwzwIVv8Osqi


Watch Video Solution

51. If length, breadth and height of cuboid are

20 cm, 18 cm and 15 cm, then it volume in M.K.S

system is

A. 540 cubic metre

B. 540000 cubic metre

C. 640 cubic metre

D. 640000 cubic metre

Answer:

https://dl.doubtnut.com/l/_CwzwIVv8Osqi
https://dl.doubtnut.com/l/_J9O2Vn3DTfFN


Watch Video Solution

52. If length breadth and height of cuboid are

30 m, 28 m and 12 m then it volume in C.G.S

system is

A. 1008.00 cubic m

B. 10080000 cubic m

C. 1008000 cubic m

D. 10080 cubic m

Answer:

https://dl.doubtnut.com/l/_J9O2Vn3DTfFN
https://dl.doubtnut.com/l/_LF04c5nhSG1B


Watch Video Solution

53. Find the volume of cuboid of dimensions

5cm, 4cm and 3cm.

A. 60 

B. 120 

C. 240 

D. 480 

Answer: A

cm3

cm3

cm3

cm3

https://dl.doubtnut.com/l/_LF04c5nhSG1B
https://dl.doubtnut.com/l/_jFg8WSCZt6gq


Watch Video Solution

54. A measuring cylinder has water of volume

 ' A stone is dropped in water and the

level rises to  . What is the volume of

stone ?

A. 25 

B. 50 

C. 75 

D. 100 

75cm3

125cm3

cm3

cm3

cm3

cm3

https://dl.doubtnut.com/l/_jFg8WSCZt6gq
https://dl.doubtnut.com/l/_ro5QHgsrvbKO


Answer: B

Watch Video Solution

55. A stone of volume 50  immersed into 

 of water in a measuring jar. Then what

will be the new reading in measuring jar?

A. 15 

B. 130 

C. 45 

D. 60 

cm3

80cm3

cm3

cm3

cm3

cm3

https://dl.doubtnut.com/l/_ro5QHgsrvbKO
https://dl.doubtnut.com/l/_RimR0L75UfAG


Answer:

Watch Video Solution

56. The volume of a rectangular slab is .

The length and breadth of the slab are 3 cm

and 2 cm respectively. Find its height.

A. 10cm

B. 8cm

C. 4cm

D. 2cm

12cm3

https://dl.doubtnut.com/l/_RimR0L75UfAG
https://dl.doubtnut.com/l/_wtWcKiCDJlFQ


Answer:

Watch Video Solution

57. A boy has purchased a toy, which is in the

form of a cuboid. The cuboid has the followign

dimensionis. . Now

the boy pours 1 litre of water into the cuboid.

Will the cuboid hold 1 litre of water?

A. 900 

B. 1800 

0.003km × 0.03m × 3cm

cm3

cm3

https://dl.doubtnut.com/l/_wtWcKiCDJlFQ
https://dl.doubtnut.com/l/_lWIkCyQyHqYH


C. 2700 

D. 3600 

Answer:

Watch Video Solution

cm3

cm3

58. When a stone is lowered into a measuring

cylinder the volume is 9.3 ml. The volume of

the stone is 5.8 ml. Find the initial volume of

water in the measuring cylinder.

https://dl.doubtnut.com/l/_lWIkCyQyHqYH
https://dl.doubtnut.com/l/_NTCFmI8yXJyv


A. 3.5 ml

B. 5 ml

C. 6.5 ml

D. 8.5 ml

Answer:

Watch Video Solution

59. Express  in terms of cubic millimetres.

A. 500 

5cm3

mm3

https://dl.doubtnut.com/l/_NTCFmI8yXJyv
https://dl.doubtnut.com/l/_TpTIIiq7cBI5


B. 5000 

C. 50 

D. 0.5 

Answer:

Watch Video Solution

mm3

mm3

mm3

60. Statement I: The density of liquids and

gases changes with change in temperature. 

Statement II: The substances having a density

less than 1 g/  will flow in water.cm3

https://dl.doubtnut.com/l/_TpTIIiq7cBI5
https://dl.doubtnut.com/l/_PJTtmdWbzZ9C


A. Statement -I is true, Statement - II is

false.

B. Statement -I is false, Statement - II is

true.

C. Both Statements I & II are true.

D. Both Statements I & II are false.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PJTtmdWbzZ9C


61. A piece of lead weight 232 g and has a

volume of 20  , then the density of lead

A. 11.6 

B. 21.6 

C. 31.6 

D. 41.6 

Answer:

Watch Video Solution

cm3

g/cm3

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_qni4AycNJKE2
https://dl.doubtnut.com/l/_RpK76fcjJWOR


62. 5 litres of alcohol has a mass of 4 kg.

Calculate the density of alcohol in 

A. 0.6 

B. 0.10 

C. 0.8 

D. 0.18 

Answer:

Watch Video Solution

g/cm3

g/cm3

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_RpK76fcjJWOR


63. Find the mass of  of iron in kg when

density of iron is .

A. 2.218 kg

B. 4.218 kg

C. 6.218 kg

D. 8.218 kg

Answer:

Watch Video Solution

555cm3

7.6g/cm3

https://dl.doubtnut.com/l/_M7K8YAR3WOif
https://dl.doubtnut.com/l/_RiajWhRdO7uh


64. If density of wood is 500 kg/ , then what

will be the value in g/  ?

A. 0.5 

B. 5 

C. 0.6 

D. 4 

Answer:

Watch Video Solution

m3

cm3

g/cm3

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_RiajWhRdO7uh


65. Density in S.I system=____x density in CGS

system.

Watch Video Solution

66. If one litre (1000 ) of water weighs

1000 g Hence the density of water is

A. 0.1 

B. 2 

C. 0.2 

cm3

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_Nde2AGijrrsb
https://dl.doubtnut.com/l/_n74cUTc1RtR6


D. 1 

Answer:

Watch Video Solution

g/cm3

67. Choose the correct option, which defines

Relative density.

A. R.D=Density of substance/Density of

water at C4∘

https://dl.doubtnut.com/l/_n74cUTc1RtR6
https://dl.doubtnut.com/l/_NWuelwN7ZjeL


B. R.D= mass of substance + mass of an

equal volume of water at C

C. R.D=Density of substance + Density of

water at C

D. R.D = Density of substance + Mass of

water at C

Answer:

Watch Video Solution

4∘

4∘

4∘

https://dl.doubtnut.com/l/_NWuelwN7ZjeL


68. Statement I: The CGS unit of relative

density is gm/  


Statement II: 1 g/ = 1000 kg/

A. Statement =I is true, Statement-11 is

talse.

B. Statement -I is false, Statement - II is

true.

C. Both Statements I & II are true.

D. Both Statements I & II are false.

cm2

cm3 m3

https://dl.doubtnut.com/l/_hVf0Wfd8ivZZ


Answer:

Watch Video Solution

69. If relative density of a substance is K then

the density of that substance is

A. K 

B. 100K 

C. 1000K 

D. k/1000 

kg/m3

kg/m3

kg/m3

kg/m3

https://dl.doubtnut.com/l/_hVf0Wfd8ivZZ
https://dl.doubtnut.com/l/_FsJzPNbJ26nA


Answer:

Watch Video Solution

70. What is the mass of air in a room of

dimensions , when the density

of air is 1.3 kg ?

A. 23.7 kg

B. 39 kg

C. 46.15 kg

D. 78 kg

3m × 4m × 5m

m− 3

https://dl.doubtnut.com/l/_FsJzPNbJ26nA
https://dl.doubtnut.com/l/_rB2SOHsU4NhE


Answer:

Watch Video Solution

71. The length of an iron cylinder is 0.8 m and

the area of cross sectionis . Find the

mass of the cylinder if its density is

.

A. 1404 kg

B. 2808 kg

C. 5616 kg

0.45m2

7800kg/m3

https://dl.doubtnut.com/l/_rB2SOHsU4NhE
https://dl.doubtnut.com/l/_sL0LefbGg5c6


D. 702 kg

Answer:

Watch Video Solution

72.  of iron weighs 234g. Find its density

in kg .

A. 3600 

B. 78 kg 

C. 7800 

30cm3

m− 3

kgm− 3

m− 3

kgm− 3

https://dl.doubtnut.com/l/_sL0LefbGg5c6
https://dl.doubtnut.com/l/_kEIArPxSDGBc


D. 780 

Answer:

Watch Video Solution

kgm− 3

73. If the mass of 2 litres of water is 2 kg, find

its density in S.I. system.

A. 1 

B. 10 

C. 100 

kg/m3

kg/m3

kg/m3

https://dl.doubtnut.com/l/_kEIArPxSDGBc
https://dl.doubtnut.com/l/_hgABIYGYmlPx


D. 1000 

Answer:

Watch Video Solution

kg/m3

74. A sphere of radius 7 cm weights 490 g.

Calculate its density in S.I. system.

A. 341 

B. 170.5 

C. 70 

kg/m3

kg/m3

kg/m3

https://dl.doubtnut.com/l/_hgABIYGYmlPx
https://dl.doubtnut.com/l/_hPL9ESaJIlhM


Conceptive Worksheet

D. 35 

Answer:

Watch Video Solution

kg/m3

1. Physical quantity = Numerical value x____

A. Standard number

B. Standard Unit

https://dl.doubtnut.com/l/_hPL9ESaJIlhM
https://dl.doubtnut.com/l/_baFc4UZRUGTb


C. standard value

D. none of these

Answer:

Watch Video Solution

2. To measure any physical quantity._____should

be required.

A. Time

B. mass

https://dl.doubtnut.com/l/_baFc4UZRUGTb
https://dl.doubtnut.com/l/_45FZXvWCHaTd


C. unit

D. Length

Answer:

Watch Video Solution

3. The S.I. system has how many basic units?

A. 15

B. 7

C. 10

https://dl.doubtnut.com/l/_45FZXvWCHaTd
https://dl.doubtnut.com/l/_G4FRouMkcRfG


D. 8

Answer:

Watch Video Solution

4. 60 kilogram in short form is written as

A. 60 kg

B. 60 kg

C. Both (A) and (B)

D. none

https://dl.doubtnut.com/l/_G4FRouMkcRfG
https://dl.doubtnut.com/l/_SFmF3R4Yeo77


Answer:

Watch Video Solution

5. Which among the following is the

international system of units ?

A. S.I.

B. F.P.S

C. C.G. S

D. M.K.S

https://dl.doubtnut.com/l/_SFmF3R4Yeo77
https://dl.doubtnut.com/l/_3cgiwj7BWD2d


Answer:

Watch Video Solution

6. A physical quantities which are independent

of other physical quantities are

A. fundamental quantities

B. derived quantities

C. Both (A) and (B)

D. neither fundamental nor derivered

https://dl.doubtnut.com/l/_3cgiwj7BWD2d
https://dl.doubtnut.com/l/_9ppzhc9zSUTs


Answer:

Watch Video Solution

7. Unit of area is a

A. Derived unit

B. Fundamental unit

C. Both (A) and (B)

D. none of these

Answer:

https://dl.doubtnut.com/l/_9ppzhc9zSUTs
https://dl.doubtnut.com/l/_80WQt2Z6sUSv


Watch Video Solution

8. The basic unit of speed is:

A. Fundamental unit

B. Derived unit

C. Neither of above

D. cannot say

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_80WQt2Z6sUSv
https://dl.doubtnut.com/l/_zHJCpnr5jO4Z


9. Which of the following quantities are used

to derive the quantity density

A. mass

B. area

C. volume

D. Both (A) and (C)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zHJCpnr5jO4Z
https://dl.doubtnut.com/l/_khJOTij9GteS
https://dl.doubtnut.com/l/_kW5hbcdyCpnb


10. बल का मात्रक न्यूटन है।

A. n

B. N

C. nN

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kW5hbcdyCpnb


11. How many quintals are there in one metric

ton ?

A. 10000

B. 1000

C. 100

D. 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LgR3GlHc3Tzz
https://dl.doubtnut.com/l/_dKsyzgSbHUG4


12. How many centimetres make 1 fermi?

A.  cm

B.  cm

C.  cm

D.  cm

Answer:

Watch Video Solution

10− 15

10− 13

10− 12

10− 10

13. How many centimetre make I nano metre

https://dl.doubtnut.com/l/_dKsyzgSbHUG4
https://dl.doubtnut.com/l/_SF6Y0TWRRWIF


A.  cm

B.  cm

C.  cm

D.  cm

Answer:

Watch Video Solution

10− 7

10− 5

10− 15

10− 10

14. 1  =____

A. 1hectares

km2

https://dl.doubtnut.com/l/_SF6Y0TWRRWIF
https://dl.doubtnut.com/l/_HLbpstqrePq9


B. 10hectares

C. 100hectares

D. 1000hectares

Answer:

Watch Video Solution

15. 1 litre = _____ millilitres.

A. 1000 ml

B. 1000 cc

https://dl.doubtnut.com/l/_HLbpstqrePq9
https://dl.doubtnut.com/l/_bjyYJlwB0gOt


C. both (A) and (B)

D. none of these

Answer:

Watch Video Solution

16. 1 =____

A. 

B.  hectares

C. 

cm2

10− 10km2

10− 8

10− 4m2

https://dl.doubtnut.com/l/_bjyYJlwB0gOt
https://dl.doubtnut.com/l/_J6Ik9nRWPCMT


D. all of these

Answer:

Watch Video Solution

17. The acceleration of a car is 51840 .

The same in  is____

A. 4

B. 8

C. 12

km/h2

m/s2

https://dl.doubtnut.com/l/_J6Ik9nRWPCMT
https://dl.doubtnut.com/l/_F6I3rNIpsK06


D. none

Answer:

Watch Video Solution

18. 0.4 sq.cm is____sq. km

A. 

B. 

C. 

D. 

4 × 10− 10

4 × 10− 11

0.4x × 10− 11

4 × 10− 9

https://dl.doubtnut.com/l/_F6I3rNIpsK06
https://dl.doubtnut.com/l/_oOBX8zedcfnl


Answer: B

Watch Video Solution

19. 1  g (micro gram) =____

A. 

B. 

C. 

D. 

Answer: C

μ

10− 10

10− 8

10− 6

10− 4

https://dl.doubtnut.com/l/_oOBX8zedcfnl
https://dl.doubtnut.com/l/_73BnTr5fx7k5


Watch Video Solution

20. What is the SI base unit for length?

A. meter

B. centimetre

C. Kilometre

D. All of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_73BnTr5fx7k5
https://dl.doubtnut.com/l/_cE9WXjZwBMnb


21. 4 kilometre are equal to

A. 4, 00, 000 metre

B. 40,000 metre

C. 4,000 metre

D. 400 metre

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cE9WXjZwBMnb
https://dl.doubtnut.com/l/_r5XLnwJ5d5Vg


22. 15 cm is equal to

A. 150 mm

B. 15 mm

C. 1.5 mm

D. 0.15 mm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1uRJIWrHHwtC


23. Which is a correct relationship?

A. 1m=100 cm

B. 1 cm =10 mm

C. 1 km=1000 m

D. all the correct

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IhrEbr8xvcfN


24. 1 cm=___ kilometre.

A. 100

B. 

C. 

D. 

Answer: C

Watch Video Solution

105

10− 5

10− 2

https://dl.doubtnut.com/l/_m4P0Tppp3Z6l


25. Arrange the following lengths in their

increasing magnitude: 

1 metre, 1 centimetre, 1 kilometre, 1 millimetre.

A. 1 centimetre  1 millimetre  1

kilometre  1 metre

B. 1 millimetre  1 centimetre  1 metre

 1 kilometre

C. 1 kilometre  1 metre  1 centimetre 

 1 millimetre

D. none

< <

<

< <

<

< <

<

https://dl.doubtnut.com/l/_IWGHKPvgL9iD


Answer:

Watch Video Solution

26. One Angstrom is…….

A.  m

B. 1  m

C.  mm

D.  cm

Answer:

10− 10

0− 8

10− 6

10− 10

https://dl.doubtnut.com/l/_IWGHKPvgL9iD
https://dl.doubtnut.com/l/_7x9ORSKeaYwD


Watch Video Solution

27. 1 AU. is equal to

A. m

B. cm

C. m

D. m

Answer:

Watch Video Solution

1.496 × 1011

1.496 × 109

1.496 × 108

1.444 × 106

https://dl.doubtnut.com/l/_7x9ORSKeaYwD
https://dl.doubtnut.com/l/_BMQaG5rkiDM1


28. The size of bacteria is generally

measuredin microns. The micrometer ,

isoften called the micron. How many micorns

make up 1 kilometer?

A. 

B. 

C. 

D. 

Answer:

(μm)

103

106

109

1012

https://dl.doubtnut.com/l/_BMQaG5rkiDM1
https://dl.doubtnut.com/l/_Wpg69TDUT6lT


Watch Video Solution

29. Least count of a metre scale is

A. 1cm

B. 0.1mm

C. 0.1cm

D. 0.01 mm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Wpg69TDUT6lT
https://dl.doubtnut.com/l/_SWawvGzljXz5


30. 1 quintal is equal to

A. 100kg

B. 1000kg

C. 10kg

D. 500kg

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1kmYt8HkXoB8


31. 1 mean solar day=____

A. 365days

B. 10years

C. 24hours

D. 60minutes

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Nox5wqUYPB7T


32. Match the following:

Watch Video Solution

Column-I Column-II

(A)Water clock (p)Sand

(b)Sun dial (q)flow of water

(c)Hour glass (r)Shadow

33. Which one is not a unit of time?

A. second

B. light year

C. hour

https://dl.doubtnut.com/l/_J7pxXTLYFkUJ
https://dl.doubtnut.com/l/_JWHU219Hlnz6


D. Century

Answer:

Watch Video Solution

34. Which of these is a type of clock?

A. Hourglass

B. Sundial

C. Pendulum clock

D. all

https://dl.doubtnut.com/l/_JWHU219Hlnz6
https://dl.doubtnut.com/l/_6knZ1ALE2YER


Answer:

Watch Video Solution

35. Which of these clocks would you expect to

be the most accurate?

A. Pendulum clock

B. Atomic clock

C. Sundial

D. Water clock

https://dl.doubtnut.com/l/_6knZ1ALE2YER
https://dl.doubtnut.com/l/_XwGCGY4zcix5


Answer:

Watch Video Solution

36. The time period of the seconds pendulum

is 2 seconds. Now, match the following with

respect to seconds pendulum. 

Watch Video Solution

Column-I Column-II

(A)1 oscillation (p)8 seconds

(b)1/2 oscillation (q)2 seconds

(c)1/4 oscillation (r)1 second

(D)4 oscillation (r)0.5 second

https://dl.doubtnut.com/l/_XwGCGY4zcix5
https://dl.doubtnut.com/l/_UjEotCtjQmOr


37. If the Charminar superfast express staying

00 hours in Warangal, then the time is 12 hour

clock is ______

A. 12 O'clock at night

B. 12 O'clock at noon

C. 18 O'clock at night

D. 18 O'clock at noon

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kupA6D77OZvb


38. A passenger goes to Secunderabad railway

station. He asked the enquiry counter, When

did Tirumala express come? The enquiry

counter person replied 18 hour 15 minutes.

Then the time in his 12-hour clock was________

A. 5 hour-45 minutes AM

B. 5 hour-45 minutes PM

C. 6 hour 15 minutes AM

D. 6 hour 15 minutes PM

Answer:

https://dl.doubtnut.com/l/_eF6VOBEBMV5W


Watch Video Solution

39. Fill in the following blanks:

A. __________(century / minute) is a very

large unit of time

B. one ___________is equal to 10 centures

C. _____________made the first pendulum

colock

D. _____________is the SI unit of time

https://dl.doubtnut.com/l/_eF6VOBEBMV5W
https://dl.doubtnut.com/l/_nMxvmVECw9Uy


Answer:

Watch Video Solution

40. The time period of a simple pendulum

depends on its______

A. the length of the string used

B. the mass of the bob

C. the extent to which the bob is displaced

D. none of these

https://dl.doubtnut.com/l/_nMxvmVECw9Uy
https://dl.doubtnut.com/l/_BODoZgKVbAwz


Answer:

Watch Video Solution

41. The amount of surface occupied by an

object or a plane is

A. length

B. temperature

C. area

D. time

https://dl.doubtnut.com/l/_BODoZgKVbAwz
https://dl.doubtnut.com/l/_Z7fdsHA0299X


Answer:

Watch Video Solution

42. Unit of area is a

A. fundamental unit

B. derived unit

C. both (1) and (2)

D. none

Answer:

https://dl.doubtnut.com/l/_Z7fdsHA0299X
https://dl.doubtnut.com/l/_fZBg07kLE8F8


Watch Video Solution

43. In C.GS system the unit of area is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

s2

kg2

cm2

m2

https://dl.doubtnut.com/l/_fZBg07kLE8F8
https://dl.doubtnut.com/l/_eUvNLx4FhRdF


44. Area of 1 sqcm is equal to

A. 100 

B. 1000 

C. 10 

D. 10000 

Answer:

Watch Video Solution

mm2

mm2

mm2

mm2

https://dl.doubtnut.com/l/_eUvNLx4FhRdF
https://dl.doubtnut.com/l/_LmADdo45bpfY


45. How many small squares are there in

1sq.cm?

A. 1000

B. 100

C. 10

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Jr4bz8kMfU6g
https://dl.doubtnut.com/l/_gObw3v56B2E7


46. The area of the land is  here 

stands for

A. (A) Numerical value of area

B. Unit of area

C. Both (A) and (B)

D. none of these

Answer:

Watch Video Solution

100m2 m2

https://dl.doubtnut.com/l/_gObw3v56B2E7


47. I =____

A. 1 hectare

B. 10 hectare

C. 100 hectare

D. 1000 hectare

Answer:

Watch Video Solution

km2

https://dl.doubtnut.com/l/_JvM3boiEVAZK


48. 1 hectare=________

A. 1000

B. 10000 

C. 100000 

D. 100 

Answer:

Watch Video Solution

m2

m2

m2

m2

https://dl.doubtnut.com/l/_CTijX18IWc0R


49. 1 litre=____

A. 1000 millilitre

B. 1000 cc

C. Both (A) and (B)

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3P9OheNmEyiE


50. The volume occupied by a cube whose each

side is equal to 1 cm is called

A. cubic centimetre

B. cubic millimetre

C. cubic metre

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_EZ89Jo8bSVj1
https://dl.doubtnut.com/l/_1dy6s74GVLZ0


51. Volume of rectangular glass of a regular

body is____

A. length + breadth + height

B. length-breadth + height

C. (length x breadth) x height

D. length/breadth x height

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1dy6s74GVLZ0


52. The unit for the volume of solids in MKS

system is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm3

m3

ml3

I 3

https://dl.doubtnut.com/l/_RJe2JhKeDsXw
https://dl.doubtnut.com/l/_HSml0RZirEva


53. One cubic metre is equal to _____

A.  cc

B.  cc

C.  cc

D.  cc

Answer:

Watch Video Solution

106

104

103

109

https://dl.doubtnut.com/l/_HSml0RZirEva


54. The vessel used in laboratories to measure

the volume of a liquid accurately .....

A. Pipette

B. Burette

C. Measuring jar

D. Measuring vessel

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SNqFDUEAFmcN
https://dl.doubtnut.com/l/_qrEQYvF1zhpz


55. 1 litre=________

A. 1000cc

B. 1000cm

C. 100ml

D. 100cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qrEQYvF1zhpz


56. The space occupied by a substance is

called________

A. area

B. length

C. volume

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZaPEbtT7NUf6
https://dl.doubtnut.com/l/_pngtrawFRDsK


57. The CGS unit of volume is____.

A. cubic centimetre

B. cubic millimetre

C. cubic metre

D. cubic litre

Answer:

Watch Video Solution

58. One cubic metre is equal to _____

https://dl.doubtnut.com/l/_pngtrawFRDsK
https://dl.doubtnut.com/l/_MJ6MKPnWN4nW


A.  cc

B.  cc

C.  cc

D.  cc

Answer:

Watch Video Solution

106

104

103

109

59. The volume occupied by a cube whose each

side is equal to 1 cm is called

https://dl.doubtnut.com/l/_MJ6MKPnWN4nW
https://dl.doubtnut.com/l/_OghLX0g2ehQN


A. cubic centimetre

B. cubic millimetre

C. cubic metre

D. none of these

Answer:

Watch Video Solution

60. The C.GS unit of density is

A. g cm− 3

https://dl.doubtnut.com/l/_OghLX0g2ehQN
https://dl.doubtnut.com/l/_NGAUP2DolCzx


B. g 

C. 

D. 

Answer:

Watch Video Solution

cm− 2

g/cm

g/cm2

61. In order to find the density of a solid we

have to find its :

A. Mass and area

https://dl.doubtnut.com/l/_NGAUP2DolCzx
https://dl.doubtnut.com/l/_o5CtPINYDWUd


B. weight and area

C. area and volume

D. mass and volume

Answer:

Watch Video Solution

62. The density of a body is represented by the

expression

A. D=V/M

https://dl.doubtnut.com/l/_o5CtPINYDWUd
https://dl.doubtnut.com/l/_gjXIeoGoReqo


B. D=M x V

C. D= 1/MxV

D. D=M/V

Answer:

Watch Video Solution

63. What are the units of density in S.I. system?

A. 

B. 

kg/m2

kg/m3

https://dl.doubtnut.com/l/_gjXIeoGoReqo
https://dl.doubtnut.com/l/_aWPUsepsGZi7


C. kg 

D. kg 

Answer:

Watch Video Solution

m− 2

m− 3

64. The relative density of mercury is ?

A. 13.6 

B. 0.8 

C. 2.5 

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_aWPUsepsGZi7
https://dl.doubtnut.com/l/_uhHhEkszOa7e


D. none of these

Answer:

Watch Video Solution

65. The C.GS unit of. relative density is

A. 

B. 

C. gm/cm

D. no unit

gm/cm3

gm/cm2

https://dl.doubtnut.com/l/_uhHhEkszOa7e
https://dl.doubtnut.com/l/_nD1jESPIBN6J


Answer:

Watch Video Solution

66. Relative density is also known as

A. lighter density

B. numerical density

C. specific gravity

D. none of these

Answer:

https://dl.doubtnut.com/l/_nD1jESPIBN6J
https://dl.doubtnut.com/l/_C5wbb4N0lzKU


Watch Video Solution

67. If M is the mass of an object of volume V,

such that D is its density, then we can say

A. V= DM

B. MVD=1

C. M=VD

D. D=MV

Answer:

https://dl.doubtnut.com/l/_C5wbb4N0lzKU
https://dl.doubtnut.com/l/_7WYBfDKGQeHD


Watch Video Solution

68. C.G.S unit of density of is _______

A. kg/m²

B. m/kg

C. g/cm³

D. cm/g

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7WYBfDKGQeHD
https://dl.doubtnut.com/l/_cnwJGKq3Lv2F
https://dl.doubtnut.com/l/_zTb4cpuobbMR


69. The density of alcohol is . Then

the density in  is _______

A. 800000

B. 0.8

C. 0.008

D. 80000

Answer:

Watch Video Solution

800kg/m3

g/cm3

https://dl.doubtnut.com/l/_zTb4cpuobbMR
https://dl.doubtnut.com/l/_dZTJqVBDDofu


70. 20  of aluminium has mass 54g. Then I 

 of aluminium mass has____

A. 74g

B. 2.7g

C. 7.2g

D. 5.4g

Answer:

Watch Video Solution

cm3

cm3

https://dl.doubtnut.com/l/_dZTJqVBDDofu


71. A piece of lead weighs 232 g and has a

volume of . Find the density of lead.

A. 0.0862 

B. 0.0862 

C. 11.6 

D. 11.6 

Answer:

Watch Video Solution

20cm3

g/cm3

cm3 /g

cm3 /g

g/cm3

https://dl.doubtnut.com/l/_4FYQ4qrIpebZ


Summative Worksheet

1. A piece of lead weighs 232 g and has a

volume of . Find the density of lead.

A. 5.8 g/ce

B. 23.2 g/cc

C. 11.6 g/cc

D. 17.4 g/cc

Answer:

Watch Video Solution

20cm3

https://dl.doubtnut.com/l/_YKugy8ghBJFE


2. Find the mass of  of iron in kg when

density of iron is .

A. 42.18 kg

B. 4.218 kg

C. 421.8 kg

D. 4218 kg

Answer:

Watch Video Solution

555cm3

7.6g/cm3

https://dl.doubtnut.com/l/_YKugy8ghBJFE
https://dl.doubtnut.com/l/_HgY8D3FQ1gYR


3. The length of a school compound is 500m

and breadth is 120m. Find the area of

compound in hectares

A. 3hectare

B. 6hectare

C. 12hectare

D. 24hectare

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Gli2cUAoFlXr


4. Find the weight of a body of mass 1 tonn

A. 1 kg.wt

B. 10 kg.wt

C. 100 kg.wt

D. 1000 kg.wt

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1FS8vFNNkVlW


5. The relative density of mercury is 13.6. State

its density in S.I. unit.

A. 13.6 g/cc

B. 1.36 g/cc

C. 1360 g/cc

D. 13600 g/cc

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OEvyQdxZaEHM
https://dl.doubtnut.com/l/_ErmRdebCiyLJ


6. If the density of copper is ,

find its relative density.

A. 8900

B. 890

C. 89

D. 8.9

Answer:

Watch Video Solution

8.9 × 103kg/m3

https://dl.doubtnut.com/l/_ErmRdebCiyLJ


7. The time taken to complete 10 oscillations

by a seconds pendulum is

A. 5sec

B. 10sec

C. 15sec

D. 20sec

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_b2y0dVNeyRBX
https://dl.doubtnut.com/l/_SE1pak8rvtgi


8. The density of a cuboid of mass 100g with

dimenssions 2 cm x 4cm x 5cm is

A. 7.5 g/ce

B. 5.0 g/cc

C. 2.5 g/cc

D. 1.25 g/cc

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SE1pak8rvtgi


9. The total mass of two object of mass 2130

kg and 16 tones is

A. 18130 kg

B. 18.13 tone

C. Both (A) and (B)

D. 16213 kg

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Q9qQXMq9YjU5
https://dl.doubtnut.com/l/_wtnerUcHAU3Y


10. Density of a body is two fifth of the density

of water. Find the R.D of that body

A. 0.4

B. 2.5

C. 0.2

D. 0.6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wtnerUcHAU3Y


Hots Worksheet

1. Statement I: Derived unit is independent

unit. 

Statement II: It is derived from fundamental

units.

A. Statement -I is true, Statement - II is

false.

B. Statement-I is false, Statement - II is true.

C. Both Statements I & II are true.

D. Both Statements I & II are false.

https://dl.doubtnut.com/l/_lOxGp4asFgP6


Answer:

Watch Video Solution

2. Derived units are the units of

A. derived physical quantities

B. fundamental physical quantities

C. both (A) and (B)

D. none of these

Answer:

https://dl.doubtnut.com/l/_lOxGp4asFgP6
https://dl.doubtnut.com/l/_ozOTPO8g4qmP


Watch Video Solution

3. Which of the following are fundamental

quantities?

A. mass

B. length

C. time

D. all

Answer: D

https://dl.doubtnut.com/l/_ozOTPO8g4qmP
https://dl.doubtnut.com/l/_fWGPZ1rm3aH0


Watch Video Solution

4. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1cm2 = ___________ mm2

104m2

103m2

102m2

102mm2

https://dl.doubtnut.com/l/_fWGPZ1rm3aH0
https://dl.doubtnut.com/l/_5c4a2rCOYOAV
https://dl.doubtnut.com/l/_EdTGUUiYLvLh


5. 10 kg  =____g 

A. 1000

B. 1

C. 

D. 100

Answer:

Watch Video Solution

m− 3 cm− 3

10− 2

https://dl.doubtnut.com/l/_EdTGUUiYLvLh


6. How many centimetres make a kilometre?

A.  cm

B.  cm

C.  cm

D.  cm

Answer:

Watch Video Solution

10− 7

10− 5

10− 15

10− 10

https://dl.doubtnut.com/l/_CGjBiY9j2fm6


7. 1 milligram=___

A.  kg

B.  g

C.  kg

D.  g

Answer: A, B

Watch Video Solution

10− 6

10− 3

106

103

https://dl.doubtnut.com/l/_cGQXELEnHa6e


8. 15  is equal to

A. 

B. 

C.  km

D. all the above

Answer:

Watch Video Solution

mm2

15 × 10− 2cm2

15 × 10− 6m2

15 × 10− 12

https://dl.doubtnut.com/l/_BotTur8EgFKv


9. The velocity of a body is  mm/nano

second, it is also equivalent to km/h

Watch Video Solution

102

10. If  newton- second, then

the number x is equal to:

A. 

B. 

C. 

1 g cm s − 1 = x

1 × 10− 1

3.1 × 10− 3

1 × 10− 5

https://dl.doubtnut.com/l/_WSBlB0VsK3c3
https://dl.doubtnut.com/l/_jOvrogtP8D6b


D. 

Answer:

Watch Video Solution

6 × 10− 4

11. 1 kg  =___gm-

A. 

B. 

C. 

D. 

m/s2 mm/s2

105

106

104

103

https://dl.doubtnut.com/l/_jOvrogtP8D6b
https://dl.doubtnut.com/l/_O94vbF76Vm6R


Answer:

Watch Video Solution

12. The S.I. unit of momentum is

A. n.s

B. N+s

C. N-s

D. none of these

Answer:

https://dl.doubtnut.com/l/_O94vbF76Vm6R
https://dl.doubtnut.com/l/_dTDizZWckRNW


Watch Video Solution

13. I decade=____millennium

A. 

B. 

C. 100

D. 1000

Answer: A

Watch Video Solution

1

100

1

10

https://dl.doubtnut.com/l/_dTDizZWckRNW
https://dl.doubtnut.com/l/_r9TOkjX9WV02


14. 1 =____  .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

m3 cm3

106

108

1010

1012

https://dl.doubtnut.com/l/_r9TOkjX9WV02
https://dl.doubtnut.com/l/_c1v1aWq2HxQ3


15. 1 litre = _____ millilitres.

A. 500

B. 1000

C. 1250

D. 1500

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TJ9N7bLJGyak


16. The volume of a rectangular glass slab of

length= 3 cm, breadth 2 cm and height 2 cm

is____

A. 10

B. 12

C. 14

D. 14

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_7ffMYn7rFZdW


17. A book of length 25 cm, breadth 18 cm and

height 2 cm. Then the volume of the book is

A. 900 

B. 45 

C. 900 

D. 45 

Answer:

Watch Video Solution

cm3

cm3

m3

m3

https://dl.doubtnut.com/l/_XfvXa0cwdhIv
https://dl.doubtnut.com/l/_BDBQ36ig2muy


18. Mass of a wooden piece of length 20 cm

breadth 10 cm and thickness 0.5 cm is 50g.

What is the density of wood ?

A. 0.1 

B. 5.0 

C. 0.5 

D. 5.1 

Answer:

Watch Video Solution

g/cm3

g/cm3

g/cm3

g/cm3

https://dl.doubtnut.com/l/_BDBQ36ig2muy
https://dl.doubtnut.com/l/_g07VhX4l8rn8


19. A silk cloth of density 'D' units, is cut into

2009 equal parts. The density of each part is

A.  units

B. D units

C.  units

D.  units

Answer:

Watch Video Solution

2009D

2

2009D

100

D

2009

https://dl.doubtnut.com/l/_g07VhX4l8rn8


20. From the following sets choose the correct

representations.

(i) K.G for kilogram

(ii) C for degree Celsius

(iii) m for metre 

(iv) s for second

A. Odd options

B. First two options

C. Even options

D. Last two options

https://dl.doubtnut.com/l/_bM2Em2AX0A2J


Answer:

Watch Video Solution

21. Find the mass of  of iron in kg when

density of iron is .

A. 4218 kg

B. 4.218 kg

C. 42.18 kg

D. 421.8 kg

555cm3

7.6g/cm3

https://dl.doubtnut.com/l/_bM2Em2AX0A2J
https://dl.doubtnut.com/l/_a4tJK0rIRVgT


Answer:

Watch Video Solution

22. An iron cylinder of radius 1.4cm and length

8 cm is found to weigh 369.6g. Calculate the

density of iron.

A. 7.2

B. 7.5

C. 8

D. 8.2

https://dl.doubtnut.com/l/_a4tJK0rIRVgT
https://dl.doubtnut.com/l/_ZTj9tMxqIB5D


Answer:

Watch Video Solution

23. The length of a cloth measured is 200 cm.

Match the following from 

A. i-a, ii-b, iii-c

B. i-c, ii-a, iii-b

List-A List-B

(i)Length (a)Numerical value

(ii)200 (b)unit

(iii)cm (c)physical quantity

https://dl.doubtnut.com/l/_ZTj9tMxqIB5D
https://dl.doubtnut.com/l/_Sv261HFaI4Rz


C. i-c, ii-b, iii-a

D. i-b, ii-a, iii-c

Answer: C

Watch Video Solution

24. 1 kg =____tonne

A. 

B. 

C. 

10− 6

10− 3

10− 6

https://dl.doubtnut.com/l/_Sv261HFaI4Rz
https://dl.doubtnut.com/l/_UsqMsLvmJk8a


D. 

Answer:

Watch Video Solution

106

25. 1 micrometre (mm)=_________cm

A. 

B. 

C. 

D. 

104

106

10− 6

10− 4

https://dl.doubtnut.com/l/_UsqMsLvmJk8a
https://dl.doubtnut.com/l/_E0pZrF6zoqNK


Answer:

Watch Video Solution

26. Match the following: 

Watch Video Solution

List-A List-B

(i)Gram (a)10− 3g

(ii)Microgram (b)10− 3kg

(iii)Milligram (c)10− 6g

https://dl.doubtnut.com/l/_E0pZrF6zoqNK
https://dl.doubtnut.com/l/_JPVTjUeRDnnH


27. A syringe has a capacity of 5 ml. Its capacity

in  and  is respectively are

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm3 m3

5 × 10− 8m3, 5cm3

5cm3, 5 × 10− 6m3

5 × 10− 3m3, 5cm3

5cm3, 5 × 103m3

https://dl.doubtnut.com/l/_R25vYdEq31Br
https://dl.doubtnut.com/l/_KRzxcN0UlZH3


28. A water tank has a capacity of 10,000 litre.

Its value in  is

A. 100 

B. 1000 

C. 1 

D. 10 

Answer:

Watch Video Solution

m3

m3

m3

m3

m3

https://dl.doubtnut.com/l/_KRzxcN0UlZH3


29. The water level of a measuring cylinder is

26ml. A piece of concrete having a volume of 6

 is immersed in it. The new level of water is

A. 20ml

B. 26ml

C. 32ml

D. 6ml

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_T11MsYfoGbN4


30. The mass of an electron is .

How many elecrons would make 1kg?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9.11 × 10− 31kg

1.1 × 1030

1.1 × 1031

1.1 × 10− 30

1.1 × 10− 31

https://dl.doubtnut.com/l/_kMTArm0w71Xi
https://dl.doubtnut.com/l/_eVQ3C4RgWoYw


31. A vessel of 200 gm weight is filled with

some kerosene. If weight of the vessel with the

keroseine is 270 g, then how much kerosene is

filled in the vessel?

A. 70ml

B. 80ml

C. 87.5ml

D. 70ml

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eVQ3C4RgWoYw


32. If 10 copper pieces, each of mass 20g, are

placed in the vessel with water, the level of

water increases to 300 ml in the vessel. Find

the initial level of water in the vessel

A. 100ml

B. 1000ml

C. 10ml

D. 280ml

Answer:

https://dl.doubtnut.com/l/_eVQ3C4RgWoYw
https://dl.doubtnut.com/l/_oWcAl4euSgAf


Watch Video Solution

33. If  then find the value of x.

A. 

B. 2

C. 

D. 3

Answer:

Watch Video Solution

= 10x
1kg

m3

gm

cm3

−2

−3

https://dl.doubtnut.com/l/_oWcAl4euSgAf
https://dl.doubtnut.com/l/_vRLTNc596uqt


34. If  and  are masses of four

bodies 0.3 kg, 0.3 mg,  nad 3000 g

respectively. The above in increasing order of

masses are as sollows

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

m1, m2, m3 m4

0.3 × 10− 6g

m1, > m2, > m3, > m4

m4, > m2, > m3, > m4

m4, > m1, > m2, > m3

m3, > m2, > m4, > m1

https://dl.doubtnut.com/l/_l1GY8tHBqbgv


Iit Jee Worksheet

1. Mass per unit volume of a substance is

called_________

A. weight

B. force

C. density

D. time

https://dl.doubtnut.com/l/_l1GY8tHBqbgv
https://dl.doubtnut.com/l/_wznbNHNthFM5


Answer:

Watch Video Solution

2. The density is CGS system =___SI system.

A. 

B. 1000

C. 100

D. 

Answer:

1

10000

1

100

https://dl.doubtnut.com/l/_wznbNHNthFM5
https://dl.doubtnut.com/l/_aoGMcjSOC2fy


Watch Video Solution

3. A piece of lead weighs 232 g and has a

volume of . Find the density of lead.

A. 

B. 11.2 

C. 12 

D. 11.6 

Answer:

20cm3

11.6/cm3

gm/cm3

gm/cm3

kg/cm3

https://dl.doubtnut.com/l/_aoGMcjSOC2fy
https://dl.doubtnut.com/l/_iQqRrpI6TJ5K


Watch Video Solution

4. An iron needle sinks in water as its density

is ………….. than 

A. Greater than

B. Lesser than

C. equal to

D. none

Answer:

Watch Video Solution

1gmc− 3

https://dl.doubtnut.com/l/_iQqRrpI6TJ5K
https://dl.doubtnut.com/l/_VOdryn3D7XzX


5. The weight is found by____balance

A. Physical balance

B. Spring balance

C. Sensitive balance

D. all the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_VOdryn3D7XzX
https://dl.doubtnut.com/l/_ppJxq6fnTMA9
https://dl.doubtnut.com/l/_n5P4lbT5grCz


6. Explain density and relative density and

write their formulae.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

d =
v

m

d =
m

v

d = Mv

d =
1

mv

https://dl.doubtnut.com/l/_n5P4lbT5grCz


7. The density of wood is 0.65  . The

density in SI system is

A. 65 

B. 650 

C. 6.5 

D. 0.65 

Answer:

Watch Video Solution

g/cm3

kg/m3

kg/m3

kg/m3

kg/m3

https://dl.doubtnut.com/l/_tHgY7AbOsm6P
https://dl.doubtnut.com/l/_pn8BUEZymvlY


8. Substance which have density more than 1g

 will

A. sink

B. flot

C. Submerge

D. none

Answer:

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_pn8BUEZymvlY


Iit Jee Worksheet Multiple Correct Answer Type Ii

1. The CGS unit of volume is____.

A. 

B. cc

C. 

D. 

Answer:

Watch Video Solution

cm3

cm2

m3

https://dl.doubtnut.com/l/_NYIVBnncd7ol


2. Which of the following is not the unit of

length?

A. meter

B. centimetre

C. foot

D. second

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AyRTLuBT1Ryi
https://dl.doubtnut.com/l/_lwXuVnUh6A3f


3. Which of the following is the unit of area?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm2

mm2

m2

m/s2

https://dl.doubtnut.com/l/_lwXuVnUh6A3f


4. Which one of the following is not a unit of

mass?

A. pound

B. meter

C. gram

D. ton

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_X89aCa7xnzZR
https://dl.doubtnut.com/l/_M4EIH9d2CWTZ


5. Which of the following is not the unit of

volume?

A. cubic metre

B. 

C. 

D. 

Answer:

Watch Video Solution

mm2

cm3

(foot)3

https://dl.doubtnut.com/l/_M4EIH9d2CWTZ


Iit Jee Worksheet Iii Paragraph Type Paragraph Ii

1. Calculate the mass of a body whose volume

is 2  and relative density is 0.52.

A. 1040 kg

B. 1004 kg

C. 4001 kg

D. 1400 kg

Answer:

Watch Video Solution

m3

https://dl.doubtnut.com/l/_2onLRZ9dAQ9i


Iit Jee Worksheet Iv Integer Type

1. The length of a blackboard is 240 cm. Rakesh

tries to measure this length using a small

wooden stick of length 40 cm. The number of

times that the stick must be revolved over the

blackboard to completely cover the length is

A. 6

B. 12

https://dl.doubtnut.com/l/_2onLRZ9dAQ9i
https://dl.doubtnut.com/l/_gjUbjoxBDbaX


C. 28

D. 24

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gjUbjoxBDbaX

